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BLPI-003 : SILKWORM REARING 
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Note : (i) Answer any five questions.  

 (ii) All questions carry equal marks. 

1. Explain the growth stages of mulberry 
silkworm with the help of a diagram. 10 

2. What are the steps to be followed to maintain 
hygiene in silkworm rearing house ? 10 

3. Describe Chawki rearing practices. 10 

4. Discuss about the most commonly used 
mountages for spinning of silkworm cocoons. 10 

5. List any four machines/equipments used in 

silkworm rearing. Explain any two in detail. 10 
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6. Describe the rearing of Muga silkworms. 10 

7. Discuss about the sorting and assessment of 
silkworm cocoons. 10 

8. Write short notes on any two of the following : 

2×5=10 
(a) Silkworm breeds for rearing  

(b) Characteristics of silkworm rearing house 

(c) Deflossing of cocoons 
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js'kedhV ikyu esa izek.k&i=k (lh-vkbZ-,l-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-,y-ih-vkbZ-003 % js'kedhV ikyu 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % (i) fdUgha ik ¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA  

1- 'kgrwrh js'kedhV ds fodkl dh voLFkkvksa dh vkjs[k 

dh lgk;rk ls O;k[;k dhft,A 10 

2- js'kedhV ikyu x`g eas LokLF;dj okrkoj.k dks cuk, 

j[kus ds fy, mi;ksx esa yk, tkus okys pj.k dkSu&ls 

gSa \     10 

3- pkWdh dhVikyu vH;kl dk o.kZu dhft,A 10 
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4- js'kedhV dks;ksa ds fuekZ.k esa vkerkSj ij mi;ksx esa 

yk, tkus okys ekmUVstksa ds ckjs esa ppkZ dhft,A 10 

5- js'kedhV ikyu esa mi;ksx dh tkus okyh fdUgha pkj 

e'khuksa@midj.kksa ds uke fyf[k,A muesa ls fdUgha nks 

dh foLrkj ls O;k[;k dhft,A 10 

6- ewxk js'kedhV ikyu dk o.kZu dhft,A 10 

7- js'kedhV dks;ksa dh N¡Vuh vkSj vkdyu ds ckjs esa 

ppkZ dhft,A  10 

8- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   2×5=10 

(d)  dhVikyu ds fy, js'kedhV dh fdLesa 

([k)  js'kedhV ikyu x`g dh fo'ks"krk,¡ 

(x)  dks;ksa dk foyksedu 
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